INSTALLATION INSTRUCTIONS
03-06 FORD EXPEDITION 3” BULL BAR
P/N:82501.13/82001.13

PART LIST
ITEM QTY CONTENTS
1 1 FRONT BAR
2 2 MOUNT BRACKET,PASSENGER AND DRIVER
3 4 M10x30 HEX BOLT
4 8 M10 FLAT WASHER
5 4 ¢10 SPRING WASHER
6 4 M10 HEX NUT
7 2 M10 U-BOLT
8 4 M10 HEX NUT
9 4 M10 FLAT WASHER
10 4 ¢10 SPRING WASHER

STEP 1. Remove the contents from box and check for damage. Verify all parts are present.
Read instructions completely before beginning.

STEP 2. Remove tow hooks by removing front and rear bolts. NOTE: Tow hooks will not be
reinstalled. Make sure nut plate in frame stays aligned with holes.

STEP 3. Position bottom bracket up to bottom of frame and replace tow hook bolts. SEE
FIGUREZ2. Go to step 6. VEHICLES WITHOUT TOW HOOKS

STEP 4. Insert u-bolt in frame as shown. SEE FIGURES 3 AND 4. Attach bracket to
u-bolts using M10 fasteners as shown. SEE FIGURE 4.Hand Tighten.

STEP 5. Attach Bull Bar to mount brackets using M10 fasteners. Make sure Bull Bar and
brackets are properly aligned and tighten all fasteners. Recommended torque values are 20
Ft/Lbs. for M10 fasteners.

LIGHT INSTALLATION: Insert threaded stud on base of the light through hole in cross tube.

Using a ratchet, extension and socket for correct size of nut supplied, insert through large

Page 1 of 1



clearance hole in bottom of cross tube. Thread nut and washers on stud and tighten. SEE
FIGURE 1. NOTE: A short socket, not a deep well works best to get the nut started.

NOTE: Plug mount holes with caps provided if not installing lights.

— EHT LICEMSE PLATE BRACKET
FARO S0P ORTE DE LA PLACK DE IDENTIFICACION
SUPPORT DE PLAGUE DIMMATRICULATION
PHARE
CROSS TUBE
TUBO TRANSVERSA = THREADED STUD
TUBE TRANSVERSALL BIRLO ROSCADO

BOULONFILETE

FASTENERS SUPPLIED
WITH LIGHTS
SUJETADORES PROVISTOS
COM LOS FAROS
ATTACHES FOURNIES

.
bt " DRILL QUT USING 316” DRILL BT . i

AVES LES PHARES COM UNA BROCA DE 3167, !
RETIRE LOS DOS REMACHES QUE i
Lot CLEARANCE HOLE SUJETAM EL SOPORTE AL PARACHOCUES i
AGLERD A L'WIDE DUNE MECHE 416 PO, __# i
ESPACEMENT RETIREZ LES DEUX RIVETS POP i
FIGURE 1 RETESAMT LE SUSPORT AUX BARE CHOSS OLT)] I
1
y

B0

LIGHT ATTACHMENT {LIGHTS NOT INCLUDED)

FIGURA 1 EXISTING TOW HOOK BOLTS
ACCESORIO PARAFARD {NO SE INCLUYEN LOS FARDS) BERNOS EX) STENTES DELOS GANGLIOE OE REM FE
FIGURE 1 BOULONS DES CROCHETS DE DEPAMNAGE EXISTANTS
FIXATION DU PHARE {PHARES NOM INCLUE)

FIGURE 2 FIGURA 2 FIGURE 2
INSTALLATION OF DRIVER SIDE, PASSENGER SIDE OPPOSITE
INSTALACION DEL LADO DEL CONDUCTOR OPUESTO AL LADO DEL ACOMPARANTE
ILLUSTRE: COTE CONDUCTEUR, EN FACE: COTE PASSAGER

FIGURE 3 FIGURA 3 FIGURE 3 FIGURE 4 FIGURA 4 FIGURE 4
INSTALLATION OF DRIVER SIDE

FRAME INSTALACION DEL LADO DEL CONDUCTOR
DELANTERA ILLUSTRE: COTE CONDUCTEUR

AVANT

2 WHEEL DRIVE/WITHOUT TOW HOOKS
TRACCION 2 X 4/SIN GANCHOS DE REMOLQUE
2 ROUES MOTRICES / 3ANS CROCHET DE DEPANNAGE

Page 2 of 2



